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Choose the correct answer from the
following :
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Propene in presence of organic peroxide
on treatment with HBr produces mainly
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2-bromopropane
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1-bromopropane
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None of the above

riﬁ?;;f” Ritmre wfs tz <@

The “electrophie

Sulphonatjon reactio
(i)
(i)

(i)

(iv)

involved in the
n in benzene is

S0,

HSO;

) H,s0, ¢
o)

c?’ tyl-“.E of nucleop

Jcactions jg shown hilic substitution

by primary alkyl
i

@ - Sy2

Sy1

(@) E,

) E,

f!

. B
( Continued |

@

(e)

18P/217

(3)

Rerfore T e fre 3R IRW T
ReRe (T7

The reagent which is commonly used for
the detection of phenolic group is

() NaHCOj3
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Which of the following amines is most
basic?
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Aniline
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N,N-dimethylaniline
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. N-methylaniline
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None of the above
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State nitration of benzene and explain
its mechanism.
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Complete the following reactions
(any two) :
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UNIT—III
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o llowing reaction and
Write down the

mechanism -

CH3CH,—C1 +0H- 7
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Why a.ryl halides are Jegs reactive than
alkyl halidegp Explain.
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How can primary, secondary and tertiary
alcohols be distingui.shed. with the help
of Lucas test? Explain with the help of

examples.

(©) Wﬁ@m’l‘{i@ﬁ%ﬂ@WWWT2 \
X2=
(R e go1) . . .
Explain the following reactions with the
help of a suitable example (any two) :
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Reimer-Tiemann reaction
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Pinacol-pinacolone rearrangement
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Schotten-Baumann reaction
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Complete the folloWing
(any three) :
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CHOH
KHSO
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' Prepare emYIMe with the help Of
Gabriel’s phthalumde syntheSlS
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N~N+Cl" OH




